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Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet. %

Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

A separate Answer Sheet is given. [t should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

Each question in this Booklet is followed by four alternative answers. For each question, you are to
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For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

Deposit only the OMR Answer Sheet at the end of the Test.
You are not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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No. of Questions /st 6 wwa : 160

" Time/WWa : 2% Hours/aw : ' Full Marks/quits : 450

Note/HZ : (1) This paper comprises of Two Sections, viz., Section—A and Section—B having
30 Multiple Choice Questions in Section—A, and 120 Multiple Choice
Questions in Section—B comprising 40 questions of Biology, 40 questions of
Chemistry and 40 questions of Physics. A candidate has to attempt all 150
questions.

(2) Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question. .

(3) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

Section—A

1. One of the formula for determining mode is ) ‘ N
(1) mode = 2 (median) + 3 (mean) (2) modc :ﬂ,w -t’hhn) - it
(3) mode = 3 (median) + 2 (mean) (4) mode = 3, (meriogd- il uoan) L.
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2. A data has 25 observations arranged in descending order. Which observation represent
the median?

(1) 12th (2) 13th . (3) 14th | (4) 15Sth

3. Chief component of first generation computer was
(1) transistors : (2) vacuum tubes and valves

(3) integrated circuits (4) VLSI

4, Central processing unit is combination of .
‘(1] control and storage (2) control and output unit

(3) arithmetic logic and input unit (4) arithmetic logic and control unit

5. Access time is
(1) seek time + latency time - (2) seek time

~ (3) seek time - latency time - (4) latency time

6. Which statement is valid?
(1) 1 KB = 1024 bytes (2) 1 MB = 1000 kilobytes

(3) 1 MB = 2048 bytes ‘ (4) 1 KB = 1000 bytes

7. Which of the following is problem oriented language?
(1) Machine language (2) Assembly language

(3) High level language (4) Low level language
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The octal equivalent of 111010 is
(1) 81 @ 72 @) 71 . () 65

The word processing task associated with changing the appearance of a document is
(1) editing (2) writing (3) formatting (4) Al of the above

The personnel who deals with the computer and its management put together are
called

(1) software (2) firmware (3) hardware (4) humanware

Which of the following is required to communicate between two computers?
(1) Communication software

(2) Protocol

(3) Communication hardware

(4) All of the above including access to transmission medium
A database language concerned with the definition of the whole database structure and
schema is ’

(1) DCL (2) DDL (3) DML (4) All of the above

Debugging is

(1) creating program code _

(2) finding and correcting errors in the program code
(B lhm the task to be computerized

4 creating the algorithm

3 _ (P.T.0)
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14,

18.

" 16.

17.

18.

If A=[“ 'b], then A~} = ?
c d

(1) ad-bc

1 ab
@) ad—bc[—c d]

it =1 =
Ifrnmnxdx 2.l'.l'.lenc:t ?.

(1) -x/3 2 =

If f(x)= ";2, then f~}(x)=?

(1) 2x-3 . 2) 3x-2

(log, xy)(log,, x¥)="?

mx @ xy

The probability of any event lies from

(2) ad +bc

@)

@) -n/2

3)

Q) y

4 1

(4)

3x+4

@) x¥

















































































